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2AM: HAUAZAZE2R
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Chol: BAICAIDIBEA CEEEED
L=
SA - BB B () - MM - BES Ol &t o San HmEET
SAUEZA2RER 715,712 829,533 A 113,821
Xl 200,000
< 515,712
SANSAHEXNE (S ELXNGMNL/NSLZ Al 673,420 755,460 A 82,040
X 200,000
< 473,420
SAEZADBEEH 273,420 395,460 A 122,040
SAEZAI 22 Z2RE2YE 63,420 124,460 261,040
201 Let24dH] 45,420 48,860 A 3,440
01 At 22/l 17,700 27,420 29,720
OgBt==&H| 6,900
~NRA Y E2REA ARE DY 3,000
—L2A E A== 15,000& x 155 128 2,700
-0k S¥E 100,000 1CH*12& 1,200
Ogxz 10,800
-Xg 2= 900,000& =1l x12& 10,800
02 2324l 27,720 16,440 11,280
Oz&22= & HA 2,820
-TV=tlE 20,000 =3CH =128 720
fEES= 1,750& x 1002 128 2,100
OXt& & Bl 6,900
O&t -8 - o RIAXNBEE FLEH
1,500,000& »12& 18,000
203 R =& 18,000 14,400 3,600
03 AIMF=XH R =AY 18,000 14,400 3,600
OSHAEA 2= 18,000
2301& 0l&8XI&A 210,000 271,000 261,000
301 et a3z 210,000 111,000 99,000
02 Zet=¢e ks 10,000 11,000 A 1,000
Oz3J1& 0IF=83 &=
500,000& »20H 10,000
11IIEtEA S 200,000 100,000 100,000
OZBII 0FxA Hy 8
1,000,000& 200X 200,000
SATA g8 RIXNJAEH 29 400,000 360,000 40,000
Xl 200,000
= 200,000
A8 FIXNLAEH 2 70,000 55,000 15,000
Xl 35,000
< 35,000
101 1244 dl 2,234 0 2,234
Xl 1,117




=TT
HACANALTA(RELT AN /AL T A)
SHAGA &30 SINAME 29

A B O9(SA) - NRANY - BES il 2
< 1,117
04 D12t 22 s 2,234 0 2,234
OFAL ExHMAHR 44,6803 «5H 10 2,234
X 1,117
& 1,117
201 £B-2%H| 47,766 40,000 7,766
Xl 23,883
< 23,883
1 AFR 22 15,966 16,800 A 834
OBt & ==ZH 6,166
Xl 3,083
= 3,083
ORoAH 84| 250,000 128 3,000
Xl 1,500
< 1,500
OFALAIE R Xl 22l bl 1,000
Xl 500
< 500
o2g+g 5,800
—M B o SANBMEARSE 49
100,000& 142 *23| 2,800
% 1,400
< 1,400
—HACATRIARE 4L
100,000& 152 23| 3,000
Xl 1,500
< 1,500
02 =224l 31,800 23,200 8,600
OSEAMEZ Al EHOIX X 15,000
Xl 7,500
< 7,500
O4t- & - A RIAXNJEE SA2c 16,800
-&IIR3 1,100,000& «12& 13,200
Xl 6,600
= 6,600
—dot=ER= 100,000 128 1,200
X 600
< 600
- AN EA HHEZ 100,000& =122 1,200
Xl 600
< 600
— &It EE e 100,000& »12& 1,200
Xl 600
< 600
202 04 tl 20,000 15,000 5,000
Xl 10,000
< 10,000
12O 20,000 15,000 5,000




2H: HACABRER
HE: SNCAALNR(ZELNANL/NALEAI)
Sol: BASA M-S RIANBLH 2 EERED
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O AEds =& 20,000
Xl 10,000
< 10,000
A8 FIUXLE AL FA 330,000 305,000 25,000
Xl 165,000
< 165,000
201 2et24d] 330,000 305,000 25,000
Xl 165,000
< 165,000
01 At 2teltl 115,000 110,000 5,000
OSIdMEA B8 115,000
Xl 57,500
< 57,500
03 A2 I 215,000 195,000 20,000
OSAEAl OIMHAIIY SEXNFXIAY 160,000
Xl 75,000
< 75,000
O=stge & XNA23 A 45,000
Xl 22,500
= 22,500
O AT Al CEOEE  AMOILt JH= 20,000
Xl 10,000
< 10,000
HE2LZH (O x=E) 42,292 74,073 A 31,781
JlE3l 42,292 74,073 A 31,781
JlE2&l 42,292 74,073 A 31,781
201 L4l 9,757 19,803 A 10,046
01 At 22l 9,757 19,803 A 10,046
OJl2+8Hl 3,982
OJles gl 5,775
202 O4dl 21,735 43,470 A21,735
01 = LH 4 Hi 21,735 43,470 AN21,735
OPIE G| 21,735
203 YR =2t 10,800 10,800 0
01 122 YR 6,600 6,600 0
o=8% 6,600
04 FEN2ELRZ=TH 4,200 4,200 0
Oz Al 2222 350,000& 122 4,200




